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Which of the following represents the sine ratio?
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adj opp hyp

Which of the following represents the cosine ratio?
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Which of the following represents the tangent ratio?
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Which statement is true for the angle 6 in the diagram?
a) b= opposite b) b=adjacent c¢) c=adjacent

d) c¢=opposite e) a=opposite

Which statement is true for the diagram?
a) sin(6)= b) tan(e)—

d)
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Which ratio would be the most suitable to determine the value of x?

a) sine b) cosine c¢) tangent d) x
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Q.7. Which ratio would be the most suitable to determine the value of x?
a) sine b) cosine c) tangent d) e) None of g
—=40 these x
5
40
Q.8. Which statement is true for the angle 0 in the diagram?
10
D sn(@)=L b (@)=L o cos(0)-1 °
2 2 2 g
[
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tan(e):z sm(0)=5 N

Q.9. Which one or more of the following statements are correct?

a b a = b
a) sin(d)=— b)) tan(@)=— <¢) cos(f)=— ]
c a c
d) a e) None of ¢
tan () = b these
Q.10. Which statement is true for the diagram? Note a=8

a) sin(@)=tan(a) b) tan(@)=cos(@) c¢) cos(0)=sin(6)

d) sin(0)=cos(a) e) None of these
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